Logic Model ﬁ» iClick2Learn

This is what we need - staff, = Plan / Budget
Inputs ¢4cilities, funds, board members,
conditions, etc.

This is what we will do — actions
Activities taken to deliver the products
and services

= Plan / Budget

This is what we will deliver — = KPIs
Outputs  tqngible work products or

services

These are the results we expect — = KPls

Outcomes derived from the delivery of outputs
fo customers

This is the ultimate goal behind the _
Impacts  outcomes — Sustain or grow the = Investment
organization decision

Informed by Kellogs Foundation Logic Model



Inputs (Resources)

In order to
accomplish our
set of activities we

Activities
In order to address our
problem or asset we will
accomplish the following

Outputs (Direct)

We expect that these
activities will produce the
following evidence or

Outcomes (Med Term)

We expect that these outputs
will lead to the following
changesin ___ years

Impacts (Log Term)

We expect that these
outcomes will lead to the
following changes in
___years:

will need: activities: service delivery:
Develop resources # resources/hours > Confidence
Trainer #ppl attending * > Knowledge retained
1 % increase in N » # grants applied for
Transfer knowledge knowledge > # grants awarded
Community hall hire >|$ Community hall hire |» Sustalnaple
community asset
Venue
CWA Catering ™| $ CWA Catering -~ Sustalnlr?g 5
community org
: : .| % and type of orgs Sustainable
Volunteers Diversity of orgs tr;ine g P 9 organisations
& staff in
community o ~| % and type of roles |, | Knowledge sharing
organisations Diversity of roles trained across community

A\

$ to community
organisations
Local
employment #
Local services
$ to local
suppliers
Community
events =
increase in
connectedness
/mental health
» Committee role
satisfaction
» Community
group
collaboration on
projects
» Community
assets
maintained

YV VYV V¥V

Assumptions

They are grant ready and/or committed to doing the work to get grant ready

Source: W.K. Kellogg Foundation




